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ENGLISH VERSION

Instructions : (1) As per the instruction no. 1 of page no. 1.

(2) Attempt all questions.
(3) Marks for the each question are indicated on the
right side.

Describe the historical origin of industrial sociology and 10+10
also describe its subject matter.

OR
How does the contribution of Max Weber help in 20
understanding the field of industrial sociology ? Elaborate.

What is an organization ? Explain human relation 4+16
theory with reference to an industrial organization.

OR
State the reasons for French revolution. Describe its 10+10

impacts on European society.

What is management in an industrial organization ? 4+16
Discuss policy formation and planning as the major
tasks of management.

OR
Describe the procedure of conciliation and arbitration to 20
resolve the industrial conflict.
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4  Elaborate the social composition of industrial labour in India. 20
OR
4 What do you understand by social security ? Enumerate 4+16
various problems of workers engaged in organized and

unorganized sector.

5 “Labour movements of India have not succeeded in 20
achieving their objectives.” Analyze this statement.
OR
5 Discuss the problems of research in the field of industrial 20

sociology.
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